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public class expectionHandling {
static int num = 50;
static int[] denominator = {0, 25, 50};
static String answer:
public static void main(String[] args) {
for(int i=0; i< 4 ; 1++) calc(i);

public static void calc(int index) {
double ans = 0;
ans = numerator / denominator[index];
answer = String. valueOf(ans);

}

2. FRETYIREASBEL - (10%)

void getResult(int a[]){

for(int i=0; i < 5; i++){
if( (a[i]%2) == 0 && a[i] > 20)
printf("%d ", a[i]/3 - 5);

}
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int main(){
int a[] = {20, 30, 50, 76, 66};
getResult(a);

return 0;
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5. SEIETE Java 352 o AT ARSI OIS 7 25 S B TARREE? (10%)

6. FHEHTFIFEIEEE AT bubbleSort()&2 binary Search()pHE] - (20%)
int main{){
int af] = {60, 20, 50, 40, 30, 10};
bubbleSort(a, 6); // Please implement the bubbleSort() function
int target = 50;
int b = binarySearch(a, 0, 5, target); / Please implement binarySearch() function
if(b == -1) printf("Fail to find the target. ");
else printf("The target is in the array ");

return 0;

7. BRETIEEEAEL o (20%)
int main(void) {
char str[20] = "this is an apple";
char str1[20];
char *ptrl, *ptr = str;
inti=0;
ptrl = strl;
while ( *ptr '="0") {
if(i%3 1= 0 && *(ptr) |="") *(ptr1+i) = *(ptr++) + 1,
else{
*(ptrl+i) ="*";  ptr++;
}

i++;
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}
*(ptrl+1) ="\0';

printf("ptrl = %s\n", ptrl);

return O;




